
N = 229

229 circles in a 1x0.20000 rectangle

radius =   0.015272592915
ratio  =  13.095353298486

density  = 0.839036610562
contacts = 596
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N = 230

230 circles in a 1x0.20000 rectangle

radius =   0.015222320161
ratio  =  13.138601598267

density  = 0.837161826641
contacts = 612

 E.SPECHT
07-AUG-2010

N = 231

231 circles in a 1x0.20000 rectangle

radius =   0.015201874655
ratio  =  13.156272139694

density  = 0.838544571014
contacts = 612
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N = 232

232 circles in a 1x0.20000 rectangle

radius =   0.015142113600
ratio  =  13.208195717238

density  = 0.835566196653
contacts = 607
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N = 233

233 circles in a 1x0.20000 rectangle

radius =   0.015117805532
ratio  =  13.229433305156

density  = 0.836475657595
contacts = 576
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N = 234

234 circles in a 1x0.20000 rectangle

radius =   0.015076674298
ratio  =  13.265525012519

density  = 0.835500742381
contacts = 623
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N = 235

235 circles in a 1x0.20000 rectangle

radius =   0.015068153235
ratio  =  13.273026686262

density  = 0.838123070711
contacts = 641

 E.SPECHT
08-AUG-2010

N = 236

236 circles in a 1x0.20000 rectangle

radius =   0.015016542615
ratio  =  13.318644986018

density  = 0.835933607530
contacts = 617

 E.SPECHT
08-AUG-2010

N = 237

237 circles in a 1x0.20000 rectangle

radius =   0.014973694440
ratio  =  13.356757131840

density  = 0.834691817218
contacts = 622
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N = 238

238 circles in a 1x0.20000 rectangle

radius =   0.014950862594
ratio  =  13.377154578323

density  = 0.835659460765
contacts = 627
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N = 239

239 circles in a 1x0.20000 rectangle

radius =   0.014905189209
ratio  =  13.418145667031

density  = 0.834051302273
contacts = 623
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N = 240

240 circles in a 1x0.20000 rectangle

radius =   0.014879010241
ratio  =  13.441754307192

density  = 0.834601583080
contacts = 637
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